SURFACE COATING OPERATIONS AIR GENERAL PERMIT REGISTRATION FORM

Part II. Notification to Permitting Office

(Detach and submit to appropriate permitting office; keep copy onsite)

Instructions: To give notice to the Department of an eligible facility's intent to use this air general permit, the owner or operator of the facility must detach and complete this part of the Air General Permit Registration Form and submit it to the appropriate Department of Environmental Protection or local air pollution control program office which has permitting authority. Please type or print clearly all information, and enclose the appropriate air general permit registration processing fee pursuant to Rule 62-4.050, F.A.C. (\$100 as of the effective date of this form) 0112667-002

Registration Type

Check one:						
INITIAL REGISTRATION - Notification of intent to: Construct and operate a proposed new facility. Operate an existing facility not currently using an air general permit (e.g., a facility proposing to go from an air operation permit to an air general permit).						
RE-REGISTRATION (for facilities currently using an air general permit) - Notification of intent to: Continue operating the facility after expiration of the current term of air general permit use. Continue operating the facility after a change of ownership. Make an equipment change requiring re-registration pursuant to Rule 62-210.310(2)(e), F.A.C., or any other change not considered an administrative correction under Rule 62-210.310(2)(d), F.A.C.						
Surrender of Existing Air Operation Permit(s) - For Initial Registrations Only						
If the facility currently holds one or more air operation permits, such permit(s) must be surrendered by the owner or operator upon the effective date of this air general permit. In such case, check the first box, and indicate the operation permits being surrendered. If no air operation permits are held by the facility, check the second box.						
All existing air operation permits for this facility are hereby surrendered upon the effective date of this air general permit; specifically permit number(s):						
No air operation permits currently exist for this facility.						
General Facility Information						
Facility Owner/Company Name (Name of corporation, agency, or individual owner who or which owns, leases, operates, controls, or supervises the facility.)						
Pompano Ford Lincoln, Inc.						
Site Name (Name, if any, of the facility site; e.g., Plant A, Metropolis Plant, etc. If more than one facility is owned, a registration form must be completed for each.)						
Facility Location (Provide the physical location of the facility, not necessarily the mailing address.) Street Address: 2741 N. Federal Hwy.	2					
City: Pompano Beach ,FL, County: Browns Zip Code: 33064-6846 Facility Start-Up Date (Estimated start-up date of proposed new facility.)(N/A for existing facility)	,					
Facility Start-Up Date (Estimated start-up date of proposed new facility.)(N/A for existing facility)						
Aug. 1972	7.7					
DEP Form No. 62-210.920(1)(c) 5 Effective: January 10, 2007	THE DEPA					

Owner/Authorized Representative	
Name and Position Title (Person who, by signing this form	below, certifies that the facility is eligible to use this
air general permit.)	١١
Print Name and Title: ATT Hess (Control	ه العالم
Owner/Authorized Representative Mailing Address	
Organization/Firm:	
Street Address: 2741 N. Federal High W.	ay
Organization/Firm: Street Address: 2741 N. Federal Highw. City: Pompano Beach, FL. County: Owner/Authorized Representative Telephone Numbers	Growald Zip Code: 33064 - 684
Owner/Authorized Representative Telephone Numbers Telephone: (954) 782-8110	
	Fax: (954) 782-8130
Cell phone (optional):	. 4
Facility Contact (If different from Owner/Authorized R	tanrasantativa)
Name and Position Title (Plant manager or person to be cor	
Print Name and Title:	nacced regarding day to-day operations at the facility.
Facility Contact Mailing Address	
Organization/Firm:	
Street Address:	
City: County:	Zip Code:
Facility Contact Telephone Numbers	
Telephone:	Fax:
Cell phone (optional):	
Owner/Authorized Representative Statement This statement must be signed and dated by the person nam	ned above as owner or authorized representative
I, the undersigned, am the owner or authorized represe addressed in this Air General Permit Registration For	m. I hereby certify, based on information and
belief formed after reasonable inquiry, that the facility	adaressea in this registration form is eligible for
use of this air general permit and that the statements m	in the facility described in this registration form as
and complete. Further, I agree to operate and maintai as to comply with all applicable standards for control (
the State of Florida and rules of the Department of Env	
I will promptly notify the Department of any changes to form.	o the information contained in this registration
<i></i>	
(1111)	
Can Herr	6(13/11
Signature	Date
	EVENUE
	EYEN 16
	₹ 6
	mc =
	ohtting
	- Co

Material Usage Rates

If this is an initial registration for a surface coating operation, provide an estimate of the average quantity of volatile organic compounds in all coatings (solvents and thinners) expected to be used on a daily basis.

If this is a re-registration for an existing surface coating operation, provide the highest monthly average of the daily quantity of volatile organic compounds in all coatings (solvents and thinners) used in the last five years. Indicate the month and year during which this usage occurred.

50.88 Gallons - June, 2010 (See ATTached)

Description of Facility

Below, or as an attachment to this form, provide a description of the surface coating operations at the facility in sufficient detail to demonstrate the facility's eligibility for use of this air general permit and to provide a basis for tracking any future equipment or process changes at the facility. Describe all air pollutant-emitting processes and equipment at the facility, and identify any air pollution control measures or equipment used.

Nehicle Sales and Service
Hours of Operation: 8:00-5:30 PM Monday Thru Friday

8:00 - 5:00 PM Saturday
-

8:00 Am - 8:00 PM Monday Thru Friday Vehicle 9:00 AM - 6:00 PM Saturday

12:00 AM - 5:00 PM SUND ay

we have 44 Sorvice Stalls in the Service Dept. and 17 Body Shop Stalls.

7

we process approximately 60 repair orders perday in The Service Dept. We process approximately 8 repair orders perday in the Body Shop.

we currently have 3 paint booths in the Body Shop which are used to paint rehides that have been fixed. All paint booths have

Silters in both the floor and cailing,

DEP Form No. 62-210.920(1)(c) Effective: January 10, 2007

Sales

VOC REPORT

Product	Description	VOC LBS/Gal	# Gallons	Total VOC
LC4100	HS Clearcoat	4.67		0.00
LHF	Fast Hardener	2.49		0.00
LHM	Medium Hardener	2.49		0.00
AM700	Spray Etch Primer	4.52		0.00
Diamont Mixes	Basecoat	6.82	12.25	83.55
DC92	High Solids Clear	3.60	7.00	25.20
DC5300	CTR Baking Clear	3.60	2.00	7.20
DC5335	Glamour Clear	2.81		0.00
DF21	Flex Agent	1.59		0.00
DH42	Rapid Hardener	2.46		0.00
DH46	Normal Hardener	2.52	4.00	10.08
DH47	Slow Hardener	3.29		0.00
DH55	Fast Hardener	3.91		0.00
DH57	Normal Hardener	3.92	0.75	2.94
DP20	2K Primer	3.17	1.00	3.17
DP25	2K Primer - White	4.22		0.00
DP26	2K Primer - Gray	4.20	2.00	8.40
DP27	2K Primer - Black	4.19		0.00
DP31	Power Fill 2K Sealer - Gray	3.47		0.00
[′] DS30	Clear 2K Sealer	4.02	2.00	8.04
HR5	Jet 5 Accelerator	7.05	0.13	0.92
HR50	Blending Solvent	7.20		0.00
PH12	Primer/SealerHardener	5.30	1.25	6.63
Uno Mixes	Single Stage	3.28	2.25	7.38
UR50	Mid Temp Reducer	7.29	3.00	21.87
UR60	High Temp Reducer	7.56	6.00	45.36
UR70	Very High Temp Reducer	7.39	2.00	14.78
822	Adhesion Promoter	6.87		0.00
868	1K Plastic Primer	6.71	0.25	1.68
900	Pre-Kleano	6.29	5.00	31.45
901	Pre-Paint Cleaner	5.95		0.00

Total Gallons Total VOC

50.88

278.63

Total VOC Emissions =

Divide By # Of Days Worked

22.00

12.665

9.28

* SEE ATTACHED E-MAIL & ATTACHMENT DATED 07/07/11 AS AN AUDENDUM TO THIS FORM.

* ADDENDUM TO # 0112667-002 ATTACHMENT TO PAGE 7

Dibble, Dickson

From:

Hess, Art [ahess@holmanauto.com] Thursday, July 07, 2011 4:55 PM

Sent:

Dibble, Dickson

To: Subject:

FW: Scanned from MFP-06996725 07/07/2011 16:48

Attachments:

DOC070711.pdf

Hello Mr. Dibble,

Sorry I missed your call. I have attached the form You requested.

If you have any problems or need something else Please feel free to call me.

954-738-3535 is my direct line.

Thank You

Art Hess

----Original Message----

From: Pompano Accounting [mailto:pompano@holmanauto.com]

Sent: Thursday, July 07, 2011 5:49 PM

To: Hess, Art

Subject: Scanned from MFP-06996725 07/07/2011 16:48

Scanned from MFP-06996725. Date: 07/07/2011 16:48

Pages:1

Resolution: 200x200 DPI

1

HOLMAN LINCOLN MERCURY VOC REPORT

Decduck	Description	VOCIDE/Cal	# Callanc	Total VOC
<u>Product</u>	<u>Description</u>	VOC LBS/Gal	# Gallons	Total VOC
LC4100	HS Clearcoat	4.67		0.00
. LHF	Fast Hardener	2.49		0.00
LHM	Medium Hardener	2.49		. 0.00
AM700	Spray Etch Primer	4.52		0.00
Diamont Mixes	Basecoat	6.82	12.25	83.55
DC92	High Solids Clear	3.60	7.00	25.20
DC5300	CTR Baking Clear	3.60	2.00	7.20
DC5335	Glamour Clear	2.81		0.00
DF21	Flex Agent	1.59		0.00
DH42	Rapid Hardener	2.46		0.00
DH46	Normal Hardener	2.52	4.00	10.08
DH47	Slow Hardener	3.29		0.00
DH55	Fast Hardener	3.91		0.00
DH57	Normal Hardener	3.92	0.75	2.94
DP20	2K Primer	3.17	1.00	3.17
DP25	2K Primer - White	4.22		0.00
DP26	2K Primer - Gray	4.20	2.00	8.40
DP27	2K Primer - Black	. 4.19		0.00
DP31	Power Fill 2K Sealer - Gray	3.47		0.00
# DS30 .	Clear 2K Sealer	4.02	2.00	8.04
HR5	Jet 5 Accelerator	7.05	0.13	0.92
HR50	Blending Solvent	7.20		· ∙ 0.00
PH12	Primer/SealerHardener	5.30	1.25	6.63
Uno Mixes	Single Stage	3.28	2.25	7.38
UR50	Mid Temp Reducer	7.29	3.00	21.87
UR60	High Temp Reducer	7.56	6.00	45.36
UR70 1	Very High Temp Reducer	•7.39	2.00	14.78
822	Adhesion Promoter	6.87	•	0.00
868	1K Plastic Primer	6.71	0.25	1.68
900	Pre-Kleano	6.29	5.00	31.45
901	Pre-Paint Cleaner	5.95		0.00

Total Gallons Total VOC 50.88 278.63

Total VOC Emissions =

Divide By # Of Days Worked

30.00

9.28766

Dibble, Dickson

From:

Dibble, Dickson

Sent:

Friday, July 08, 2011 6:59 AM

To:

'Hess, Art'

Cc:

Ajhar, Rebecca; Arif, Syed

Subject:

Surface Coating Operations AGP Registration Form renewal for Facility ID# 0112667,

POMPANO FORD LINCOLN INC

Dear Mr. Hess,

Thank you for your immediate attention and very prompt response to my request for a correction to your method of calculating the VOC containing materials used at your facility.

As a background to my request, the rule language calls for "...the highest monthly average of the daily quantity of volatile organic compounds in all coatings (solvent and thinners) used in the last five years." Monthly is commonly interpreted to mean thirty (30) days rather than actual days of operation, which in your case you had indicated was twenty-two (22).

I hope this helps in your understanding of my request.

I will attach the corrected copy as an addendum to the original submitted form which we received on 06/16/11.

If you have any questions, comments or concerns in the future please e-mail or call.

Thank you and have a great weekend!

Sincerely yours,

Dickson E. Dibble

Dickson E. Dibble, ES III

Air General Permit Program

FL Dept of Environmental Protection

Div. of Air Resource Management

Bureau of Air Monitoring & Mobile Sources

Tel. (850) 717-9071

FAX (850) 717-9001

GIC - #59571

Dickson.Dibble@dep.state.fl.us

Please note: Florida has a very broad public records law. Most written communications to or from state officials regarding state business are public records available to the public and media upon request. Your e-mail communications may therefore be subject to public disclosure

----Original Message----

From: Hess, Art [mailto:ahess@holmanauto.com]

Sent: Thursday, July 07, 2011 4:55 PM

To: Dibble, Dickson

Subject: FW: Scanned from MFP-06996725 07/07/2011 16:48

Hello Mr. Dibble,

Sorry I missed your call. I have attached the form You requested.

If you have any problems or need something else Please feel free to call me.

954-738-3535 is my direct line.

Thank You

Art Hess

----Original Message----

From: Pompano Accounting [mailto:pompano@holmanauto.com]

Sent: Thursday, July 07, 2011 5:49 PM

To: Hess, Art

Subject: Scanned from MFP-06996725 07/07/2011 16:48

Scanned from MFP-06996725.

Date: 07/07/2011 16:48

Pages:1

Resolution:200x200 DPI